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NEW QUESTION 1
An organization’s web server farm, which is hosted in the cloud with DNS load balancing, is experiencing a spike in network traffic. This has caused an outage of
the organization’s web server infrastructure.
Which of the following should be implemented to prevent this in the future as a mitigation method?

A. Enable DLP
B. Configure microsegmentation
C. Enable DNSSEC
D. Deploy a vADC appliance

Answer: D

NEW QUESTION 2
A company recently experienced a power outage that lasted 30 minutes. During this time, a whole rack of servers was inaccessible, even though the servers did
not lose power.
Which of the following should be investigated FIRST?

A. Server power
B. Rack power
C. Switch power
D. SAN power

Answer: C

NEW QUESTION 3
Users of an enterprise application, which is configured to use SSO, are experiencing slow connection times. Which of the following should be done to troubleshoot
the issue?

A. • Perform a memory dump of the OS.• Analyze the memory dump.• Upgrade the host CPU to a higher clock speed CPU.
B. • Perform a packet capture during authentication.• Validate the load-balancing configuration.• Analyze the network throughput of the load balancer.
C. • Analyze the storage system IOPS.• Increase the storage system capacity.• Replace the storage system disks to SSD.
D. • Evaluate the OS ACLs.• Upgrade the router firmware.• Increase the memory of the router.

Answer: C

NEW QUESTION 4
A cloud administrator has deployed a new VM. The VM cannot access the Internet or the VMs on any other subnet. The administrator runs a network command
and sees the following output:

The new VM can access another VM at 172.16.31.39. The administrator has verified the IP address is correct. Which of the following is the MOST likely cause of
the connectivity issue?

A. A missing static route
B. A duplicate IP on the network
C. Firewall issues
D. The wrong gateway

Answer: B

NEW QUESTION 5
A systems administrator is deploying a new storage array for backups. The array provides 1PB of raw disk space and uses 14TB nearline SAS drives. The solution
must tolerate at least two failed drives in a single RAID set.
Which of the following RAID levels satisfies this requirement?

A. RAID 0
B. RAID 1
C. RAID 5
D. RAID 6
E. RAID 10

Answer: D

NEW QUESTION 6
A systems administrator needs to configure SSO authentication in a hybrid cloud environment. Which of the following is the BEST technique to use?

A. Access controls
B. Federation
C. Multifactor authentication
D. Certificate authentication

Answer: C

NEW QUESTION 7
A cloud administrator is switching hosting companies and using the same script that was previously used to deploy VMs in the new cloud. The script is returning
errors that the command was not found.
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Which of the following is the MOST likely cause of the script failure?

A. Account mismatches
B. IP address changes
C. API version incompatibility
D. Server name changes

Answer: D

NEW QUESTION 8
A systems administrator needs to configure an email client to ensure data integrity of the email messages. Which of the following provides the BEST mechanism to
achieve this goal?

A. Cyclic redundancy check
B. SHA-1 hashes
C. SHA-256 hashes
D. Digital signature

Answer: A

NEW QUESTION 9
To save on licensing costs, the on-premises, IaaS-hosted databases need to be migrated to a public DBaaS solution. Which of the following would be the BEST
technique?

A. Live migration
B. Physical-to-virtual
C. Storage-level mirroring
D. Database replication

Answer: B

NEW QUESTION 10
A cloud engineer is responsible for managing two cloud environments from different MSPs. The security department would like to inspect all traffic from the two
cloud environments.
Which of the following network topology solutions should the cloud engineer implement to reduce long-term maintenance?

A. Chain
B. Star
C. Mesh
D. Hub and spoke

Answer: D

NEW QUESTION 10
An organization will be deploying a web application in a public cloud with two web servers, two database servers, and a load balancer that is accessible over a
single public IP.
Taking into account the gateway for this subnet and the potential to add two more web servers, which of the following will meet the minimum IP requirement?

A. 192.168.1.0/26
B. 192.168.1.0/27
C. 192.168.1.0/28
D. 192.168.1.0/29

Answer: B

NEW QUESTION 14
A systems administrator needs to configure monitoring for a private cloud environment. The administrator has decided to use SNMP for this task.
Which of the following ports should the administrator open on the monitoring server’s firewall?

A. 53
B. 123
C. 139
D. 161

Answer: D

NEW QUESTION 18
A systems administrator is creating a VM and wants to ensure disk space is not allocated to the VM until it is needed. Which of the following techniques should the
administrator use to ensure?

A. Deduplication
B. Thin provisioning
C. Software-defined storage
D. iSCSI storage

Answer: B
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NEW QUESTION 22
A company has deployed a new cloud solution and is required to meet security compliance.
Which of the following will MOST likely be executed in the cloud solution to meet security requirements?

A. Performance testing
B. Regression testing
C. Vulnerability testing
D. Usability testing

Answer: C

NEW QUESTION 25
A storage array that is used exclusively for datastores is being decommissioned, and a new array has been installed. Now the private cloud administrator needs to
migrate the data.
Which of the following migration methods would be the BEST to use?

A. Conduct a V2V migration
B. Perform a storage live migration
C. Rsync the data between arrays
D. Use a storage vendor migration appliance

Answer: D

NEW QUESTION 29
Which of the following cloud services is fully managed?

A. IaaS
B. GPU in the cloud
C. IoT
D. Serverless compute
E. SaaS

Answer: C

NEW QUESTION 33
A cloud architect is designing the VPCs for a new hybrid cloud deployment. The business requires the following:
 High availability
 Horizontal auto-scaling
 60 nodes peak capacity per region
 Five reserved network IP addresses per subnet
 /24 range
Which of the following would BEST meet the above requirements?

A. Create two /25 subnets in different regions
B. Create three /25 subnets in different regions
C. Create two /26 subnets in different regions
D. Create three /26 subnets in different regions
E. Create two /27 subnets in different regions
F. Create three /27 subnets in different regions

Answer: B

NEW QUESTION 37
An organization is required to set a custom registry key on the guest operating system. Which of the following should the organization implement to facilitate this
requirement?

A. A configuration management solution
B. A log and event monitoring solution
C. A file integrity check solution
D. An operating system ACL

Answer: A

NEW QUESTION 41
A systems administrator is creating a playbook to run tasks against a server on a set schedule.
Which of the following authentication techniques should the systems administrator use within the playbook?

A. Use the server’s root credentials
B. Hard-code the password within the playbook
C. Create a service account on the server
D. Use the administrator’s SSO credentials

Answer: D

NEW QUESTION 46
A resource pool in a cloud tenant has 90 GB of memory and 120 cores. The cloud administrator needs to maintain a 30% buffer for resources for optimal
performance of the hypervisor. Which of the following would allow for the maximum number of two-core machines with equal memory?
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A. 30 VMs, 3GB of memory
B. 40 VMs, 1,5GB of memory
C. 45 VMs, 2 GB of memory
D. 60 VMs, 1 GB of memory

Answer: D

NEW QUESTION 47
A systems administrator wants to have near-real-time information on the volume of data being exchanged between an application server and its clients on the
Internet.
Which of the following should the systems administrator implement to achieve this objective?

A. A stateful firewall
B. DLP
C. DNSSEC
D. Network flows

Answer: D

NEW QUESTION 52
A cloud administrator has built a new private cloud environment and needs to monitor all computer, storage, and network components of the environment.
Which of the following protocols would be MOST useful for this task?

A. SMTP
B. SCP
C. SNMP
D. SFTP

Answer: C

NEW QUESTION 55
A web server has been deployed in a public IaaS provider and has been assigned the public IP address of 72.135.10.100. Users are now reporting that when they
browse to the website, they receive a message indicating the service is unavailable. The cloud administrator logs into the server, runs a netstat command,
and notices the following relevant output:

Which of the following actions should the cloud administrator take to resolve the issue?

A. Assign a new IP address of 192.168.100.10 to the web server
B. Modify the firewall on 72.135.10.100 to allow only UDP
C. Configure the WAF to filter requests from 17.3.130.3
D. Update the gateway on the web server to use 72.135.10.1

Answer: D

NEW QUESTION 59
An IaaS provider has numerous devices and services that are commissioned and decommissioned automatically on an ongoing basis. The cloud administrator
needs to implement a solution that will help reduce administrative overhead.
Which of the following will accomplish this task?

A. IPAM
B. NAC
C. NTP
D. DNS

Answer: A

NEW QUESTION 63
A systems administrator needs to configure a set of policies to protect the data to comply with mandatory regulations.
Which of the following should the administrator implement to ensure DLP efficiently prevents the exposure of sensitive data in a cloud environment?

A. Integrity
B. Versioning
C. Classification
D. Segmentation

Answer: A

NEW QUESTION 68

An organization requires the following to be achieved between the finance and marketing departments: 

Allow HTTPS/HTTP.
 Disable FTP and SMB traffic.
Which of the following is the MOST suitable method to meet the requirements?

A. Implement an ADC solution to load balance the VLAN traffic
B. Configure an ACL between the VLANs
C. Implement 802.1X in these VLANs
D. Configure on-demand routing between the VLANs
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Answer: B

NEW QUESTION 70
A company wants to implement business continuity, and the cloud solution architect needs to design the correct solution.
Which of the following will provide the data to measure business continuity? (Choose two.)

A. A service-level agreement
B. Automation scripts
C. Playbooks
D. A network diagram
E. A backup and restore
F. A recovery time objective

Answer: AF

NEW QUESTION 74
A company needs to rehost its ERP system to complete a datacenter migration to the public cloud. The company has already migrated other systems and
configured VPN connections.
Which of the following MOST likely needs to be analyzed before rehosting the ERP?

A. Software
B. Licensing
C. Right-sizing
D. The network

Answer: B

NEW QUESTION 76
A company has a cloud infrastructure service, and the cloud architect needs to set up a DR site. Which of the following should be configured in between the cloud
environment and the DR site?

A. Failback
B. Playbook
C. Zoning
D. Replication

Answer: D

NEW QUESTION 77
A cloud administrator needs to implement a mechanism to monitor the expense of the company’s cloud resources.
Which of the following is the BEST option to execute this task with minimal effort?

A. Ask the cloud provider to send a daily expense report
B. Set custom notifications for exceeding budget thresholds
C. Use the API to collect expense information from cloud resources
D. Implement a financial tool to monitor cloud resource expenses

Answer: D

NEW QUESTION 81
A company is currently running a website on site. However, because of a business requirement to reduce current RTO from 12 hours to one hour, and the RPO
from one day to eight hours, the company is considering operating in a hybrid environment. The website uses mostly static files and a small relational database.
Which of the following should the cloud architect implement to achieve the objective at the LOWEST cost possible?

A. Implement a load-balanced environment in the cloud that is equivalent to the current on-premises setupand use DNS to shift the load from on premises to cloud.
B. Implement backups to cloud storage and infrastructure as code to provision the environment automatically when the on-premises site is dow
C. Restore the data from the backups.
D. Implement a website replica in the cloud with auto-scaling using the smallest possible footprin
E. Use DNS to shift the load from on premises to the cloud.
F. Implement a CDN that caches all requests with a higher TTL and deploy the laaS instances manually in case of disaste
G. Upload the backup on demand to the cloud to restore on the new instances.

Answer: B

NEW QUESTION 86
After a hardware upgrade on a private cloud system, the systems administrator notices a considerable drop in network performance. Which of the following is
MOST likely the cause?

A. The driver
B. The memory
C. The cluster placement
D. The CPU

Answer: C

NEW QUESTION 89
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A company needs to access the cloud administration console using its corporate identity. Which of the following actions would MOST likely meet the
requirements?

A. Implement SSH key-based authentication.
B. Implement cloud authentication with local LDAP.
C. Implement multifactor authentication.
D. Implement client-based certificate authentication.

Answer: D

NEW QUESTION 93
A cloud administrator is building a new VM for a network security appliance. The security appliance installer says the CPU clock speed does not meet the
requirements.
Which of the following will MOST likely solve the issue?

A. Move the VM to a host with a faster CPU
B. Add more vCPUs to the VM
C. Enable CPU masking on the VM
D. Enable hyperthreading on the virtual host

Answer: D

NEW QUESTION 98
An organization is implementing a new requirement to facilitate users with faster downloads of corporate application content. At the same time, the organization is
also expanding cloud regions.
Which of the following would be suitable to optimize the network for this requirement?

A. Implement CDN for overall cloud application
B. Implement auto-scaling of the compute resources
C. Implement SR-IOV on the server instances
D. Implement an application container solution

Answer: C

NEW QUESTION 103
A systems administrator is trying to reduce storage consumption. Which of the following file types would benefit the MOST from compression?

A. System files
B. User backups
C. Relational database
D. Mail database

Answer: B

NEW QUESTION 105
A company is doing a cloud-to-cloud migration to lower costs. A systems administrator has to plan the migration accordingly.
Which of the following considerations is MOST important for a successful, future-proof, and low-cost migration?

A. Tier pricing
B. Licensing
C. Estimated consumption
D. Feature compatibility

Answer: D

NEW QUESTION 110
Which of the following cloud deployment models allows a company to have full control over its IT infrastructure?

A. Private
B. Cloud within a cloud
C. Hybrid
D. Public

Answer: A

NEW QUESTION 114
A software development manager is looking for a solution that will allow a team of developers to work in isolated environments that can be spun up and torn down
quickly.
Which of the following is the MOST appropriate solution?

A. Containers
B. File subscriptions
C. Ballooning
D. Software-defined storage

Answer: A
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NEW QUESTION 119
A cloud administrator is setting up a DR site on a different zone of the same CSP. The application servers are replicated using the VM replication, and the
database replication is set up using log shipping. Upon testing the DR site, the application servers are unable to access the database servers. The administrator
has verified the systems are running and are accessible from the CSP portal.
Which of the following should the administrator do to fix this issue?

A. Change the database application IP
B. Create a database cluster between the primary site and the DR site
C. Update the connection string
D. Edit the DNS record at the DR site for the application servers

Answer: C

NEW QUESTION 123
Which of the following is relevant to capacity planning in a SaaS environment?

A. Licensing
B. A hypervisor
C. Clustering
D. Scalability

Answer: D

NEW QUESTION 127
A company is switching from one cloud provider to another and needs to complete the migration as quickly as possible.
Which of the following is the MOST important consideration to ensure a seamless migration?

A. The cost of the environment
B. The I/O of the storage
C. Feature compatibility
D. Network utilization

Answer: D

NEW QUESTION 128
A systems administrator is configuring a storage array.
Which of the following should the administrator configure to set up mirroring on this array?

A. RAID 0
B. RAID 1
C. RAID 5
D. RAID 6

Answer: B

NEW QUESTION 132
......
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